pi /pi

Ratio to LHCB

1.8

1.6

1.4

1.2

0.8

0.6

0.4

900 GeV pp Soft QCD
=T T T T T T T
B TU/TC VS VI(p, > 1.2 Gev) g
= LHCB ]
- Pythia 6.428 355 7
- 7 Pythia 6.428 356 —
| —A— Pythia 6.428 370 ]
— Pythia 6.428 379 .
- Pythia 6.428 ambtl —
~  ——— Pythia6.428 z2 B
:l | | | | | | | | | | | | | ' | —1 | | l |:
:l T T T T | T T T T | T T T | T T T T |:

| " 1 1 1 1 | 1 1 1 1 " | " 1 1 1 " | " 1 1 1 1 " |
2.5 3 3.5 4 4.5

Rivet 3.1.10, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


